1Z 30ys uony Aojdaq
{BUUUY PIMOIS

=
o
-
3
3
o
2 &
als
=2
3
[0}
b=}
e
=
o
%]
a
o
[0
°
o
lw) ~<
(]
S Z
=1
2 o
o =1
o %)
o
o
=
e
5
° g
o
€ :
E %
g z
3
« g
> =]
<] L
N
=
o
=
3
3
o
o |3
als
NI
3
[0}
3
e
'
%]
a

:pahojdag
T 1045 uondy Aojdag




UHKIVIHWII'HII‘\IHI\ \ll[lHl’\IJ][HIJIEUI]IIU!IIIUIIII‘ \Il!|Hl|“ II’!IlIPm|l!\l'l!H]lllqllllUlli]\ I

LLI b O ¥ |
© @
T o
o 2
< [0}
> o
o >
=4 =]
3 B
2 g
g 3
; |||m||n4|m|’u||;uupmu||qu|||u||‘u| iy mlwn (I !u|||u||||>|||||
nil'lﬂllnllll =
2
ulmimlrumlunlnuhn\lunirullm\luulml'nulmii\mmu‘rmlnnhmlm\||urum’uulun||mluui 3
3
b
2=
w2
3
[0}
=]
ad
=
[0}
9
o
[0}
j=3
o
<
o
B 3
S S
3 2
o o
(ad
=
T unmmmmuumumrmnmpummpm\‘rwluluun’umuu’nuumrmmuqunpmrmmr|‘|u|1|m‘m|p:m' !“"J"”l”"l””["”f‘”'[”"l””[””i"”[””F"”l”“\””[””I"“i"”W"J““f‘f"l'”'I””]“”i”"["“I"“]‘”U““I”"J“”
5 3 00 AL 4b 1y u1134551l9]|)|ll21:ul
® @
=2 ilII|\IHIIIII{IFII’NH]II [ g
e | :
% Q.
PN >
= 5
| Bl
S g
w >
§ 0 O 0 u’mqnufmq III"".T“lﬂ"“""""”"" 3
2]4551!9]OHI2 14
PR bbbl hiokodl] | |-
thw T RS Jnulhmlmlhnmul MO0 oo oo o o ©
3
3
7|8
Q=
&8
3
[0}
R 7 [r=re El
J]!IJIIIIJI[I!II’HH|HHPIIll|IIHI1!!I]I!Il[lllli!l!r’! . ; 3
13 14 5] g
9
o
[}
°
oy |2
12 13 iL (£ g ?
o =
2 S
3 4
= 3
(ad
=
St




1z 10ys uondy Aojdag
'BUUBlUY PaMOlS

:pa-A0|daq
1T 30YS UOIPY A0|dad -

‘GIs9L
159 JuawAo|dagq ww T6'T

8

ittt

‘eUURIUY SUIMOIS

o
@
i=3
o
<
>
(o]
=
o
=1
%)
=
]
|

A

o

: o £

[} o

k-3 aQ

n|nn|m|||m|mwun|uu 1| I B
10 n oz s a 9 10 0z §
A ‘ [ umuniimihﬂh_uﬂum.mﬁl,nl ]

_,H

‘TIs9L
159 awAojdag ww 9'T




1.6 mm Deployment Test

Test 2:

1.6 mm Deployment Test

Stowing Antenna:

= —

Deploy Action Shot:

Stowed Antenna:

Deployed:

Test 3:

Stowing Antenna:

Deploy Action Shot:

Stowed Antenna:
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1.1 mm Deployment Test

Test 1:

Stowing Antenna:
; -

Stowed Antenna:

1.1 mm Deployment Test

Test 2:

Stowing Antenna:

Deploy Action Shot:

Stowed Antenna:

Deployed:
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